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Check out‘
1 1 40
1 a 61 b 6, c 23 d et
e |
32
2 aqrl b 53 c 45 d 78
2 4
e 72
5
3 a 03 b 0.78 ¢ 002
4 8 5 2531
1812° 3756
Chapter 8
Check in
1 a < b > c < d>
e <then <
2 a m+2 b Sx-Sy
¢ 2p+ll+4y d 2f-4g-8
3 ai 15p-6 ii 24+18x
ili x*+5x iv 15p* -12p
b i 52p-36m ii 30+30T

4 a Equation
¢ Expression

b Expression
d Formula/function

5 a2 x=22! b x=223
2

Exercise 8A

1 a x=8 b x=-1

2 ax=3 b x=3

3 ax=6 b x=24 ¢ x=727

4 a p=5 b x=9

5 ad=2 b x=72

6 a x=4 b x=4

7 a x=3 b x=2 c n=12

8 a x=5 b y=2

9 a y=1 b x=3

10a 4(x+3)=32 b x=5

11a x+x+2+x+4=6x b 2=uxsidesare2,4and 6cm
12a 2y+8=32 b 12cm

13a x+20 b 2x+20 ¢ 55

14a 2x+19cm b 5.5

155cmand 9 cm

16 9 years old and 12 years old
17 23,24 and 25

18 21, 23 and 25

19112and 114

20 a Let.x=cost of achild’s ticket. Then 2x = the cost of an
adult ticket.

Mr and Mrs Brown + S children:
2¢+2x +5x=315,0r9% =315

b Child’s ticket = 35 cents; adult’s ticket = 70 cents
21 2000 - 51 = 75, t = 385 (Thus, the cost of each ticket is $3.85)
222(3n+7)=80,n=11
23 50x - 900 = 900, therefore x =36

Exercise 8B

d 25

d 13
x<3 d x<3
x>1.5 h x<3
x>3 d x>7
x>8

1 a2 b 10 c 05
2 Enri forgot the brackets. This is the correct working and
solution:
_ 22 i
2= 14 [multiply by x + 4]
2(x-+4) =22 [divide by 2]
x+4=11 [subtract 4]
x=17
J a4 b 7 ¢S5
e 4 f 17
4 0 _y5 50x=13]
x+7
518
6 a ﬁ:s
x—8
b 37
7 a 14 b 25
8§ a2 b -1
9 a7 b 13
Exercise 8C
1 a x>3 b x>5 c
e x>2 f x>1.5 g
2 a x<5 b x29 c
e x23 f x<2 g
3 3x10-5=25
2x10 +7=27
2527

4 a She has forgotten to reverse the inequality sign when

dividing by a negative number.

b 5-2x-4=5+8=13 which is greater than 11

5 a x<6 b x>6
6 20+0.5d=55
7 a yes b yes c yes d no
8§ ax<2 bax25 c¢x<4 dx>6 e x<3
9 ax<3 bx>5 ¢ x22 dx<65 e x<I10
10x<7
Exercise 8D
1 For Question 1 of Exercise 8C:
a O—— b O——
3 5
c ——@ d «—O
R S
e o— f o—
2 1.5
g _O—— h «<—0
1.5 3
For Question 2 of Exercise 8C:
a —0 b __.:__:»_—
5 9
c O— d _O:_
3 7
e O&—— f <—@
5' 2
g __O——>



- I‘“ Student Answers

i 2 a56789 b 1.2 ¢ 6,789 y-intercent = acliont = —(
3 d 1,23 e 7.8.9 Fa 3.4 ﬁ PR RIS S
3 a 16.17.18,19,20b 18,19,20 ¢ 1.2.3 y-intercept = 7, gradient = -¢
N d 1.2,345 e 1.2.3 £ 15.16.17. 18, 19,20 4 b,cande
4 a x<2 b v22 ¢ l<x<?2 5 aande,band
o d 5<x<10 e 0<x<30 6 a y=2r by =2x+1 ¢ y=2x+5
5 a 2<x<6 b 9<x<16 ¢ 1<x<7 d y=2r-3 e y=2x+2
d :1$.\‘<10 e I<x<d 7 a y=3x+2 b y=5¢+2 ¢ y="142
6 ai O—O bi O— @ d y=2x+2 e y=2 2
—__Tq jﬁ—— é ]]6 8 ﬂy=3x+5 by:4X'*2 c‘yzxg.]
“ |
10 1.2.3.45 i 10, 11,12, 13, 14, a2 b3 ¢2 d 2
15, 16 el f 2
i ——e Y S—
¢ —_ di | | 10a aandd,bande,candf
. ll,,345 { 4 10 b candf
. ;l 120 3,4,5,6,7 i 4,56,7,8,9 11a y=3x+2 b y=2x+4 C y=4c-|
:I j_' d y=4x-3
l 4 Exercise 8F
i 2,34 1 ax=1y=1 b x=2,y=1 c c=1.d=1
7 a 24,25 b 21,22,23 ¢ 22,23,24,25 d x=3,y=1 e x=3,y=5 f a=8b=2
8 a 35,67 b 6,7 2 ax=1y=1 b x=1y=1 c x=1.y=3
9 a 10,1112 b 4,56 da=10b=1 e x=4,y=1 f m=5.g="2
10 length must be greater than 8 cm 3 x=7,y=8
11 width must be greater than 15cm 4 a 6x+3y=060 (result of [1] = [2]) or "6 — 3y = 60 (result of
12 Amy is younger than 9 [21-11])
13a b x=5,y=10
4x>20 10<3x+1<22 ,

When the coefficients of the variable you are eliminating
are the same sign, you subtract; when the coefficients of the
variable you are eliminating are the opposite sign, you add.

6 Small 250 ml, large 400 ml
Any 7
integer

Any
integer
greater

en & Both are about the same level of difficulty, with adding being
an

just slightly easier.

2

y-intercept = % , gradient = 2

less
\ than 4 8 In Greg’s method, all the values end up positive for the
b Students’ own answers resuliing equation.
9 12and7
14 Students’ own answers
15a 2<x<6 b 1<x<3 ¢ 3<x<9 Exerclse 8G
. 1 a x=4,y=1 b x=1y=
Exercise S8E c x=38,y=16 d x=2,y=2
1 Only graph B could be that of y=3x -4 2 ax=1ly=1 b x=1y=1 ¢ x=5,y=2
2 ay=3x+5 by=2-3 d x=1y=2 ex=lLy=1 fx=2y=21
c y=7-x dy=1-2 g x=03,y=15
3 a y-intercept = 3, gradient =2 3,4 Studenis’ own answers
b y-intercept = ']2 gradient =3 § 12 children and 4 sheep
i =1 v — 4 .
¢ y-intercept =, gradient = = 6 15 bottles of still and 8 bottles of sparkling
. 3 3
d y-intercept = 4, gradient =2
e y-intercept = % , gradient = —1

—
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Investigation 11 == Alinear graph with |
#-5 O-3 @=7 a positive gradient | a negative gradient
So the second row totals 20 & i Ty-3x-2-0 [ENEESAEITT
Exercise 8H 12 b =17, a =15, so the cost of 7 bananas and 8 apples = $2.39
1 a x=4,y=1 b x=1,y=1 cx=1y="1 13a y=2x+3 b y=x+5 c y=3x-6
d x=1,y=3 Check out
2 a x=2,y=1 b x=3,y=3 1 a2 b 3 c 11
3 a-d Students’ own answers 2 a x<3 b x>4 ¢ x<0.5 d x>3
Consolidation 3 a % b % ¢ 3
Exercise 8 ~_3 .
a y—EA—l b y=x+1
1 a Xf15 :., x=12 ¢ x=13 d x=4 52 x=2y=1 b x=3y=1
e x2—665 . x=40 g x=12 ¢ x="1,y=2 d x="18,y="15
2 a X+10=71scorrect b x=28 6 a x=5y=1 bm=9p="73
3 a x<2 b x>4 c x<12 d x<7 Cha ter
e x23 f x<3 g x>05 h x<e6 p 9
i x<2 Check in
4 a x=7,y=3 b x=25,y="35 1 a 52° b 45° ¢ 131°
c x=8'y=3 d x=1 ,y=0.5 2 a 24° b 40° Cc 68°
e x=1,y="1 fx=1,y=1 3 a 60° b 50°
S a x>1] b x<12 cC x<4 d x>4
e f<25 f y<2 g t>4
6 a 80w+150<500 b 4 ¢ $30
7 a x=9,y=2 b r=6t=-1
8 ¢=235n=18

9 a $30 b $20
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